From: stgrima

Sent: Tuesday, 5 October 2021 11:29 AM
To: Emma Rogerson

Subject: Question

Emma,
Please forward to Daniel Mookhey.
We think Daniel Mookhey interpreted the biodevisity issue incorrectly.

We have 3 trees on our property totalling 3000 sq mtre. They are discounting it to $80 a sq
metre compared to $200 that they offered for the whole property.

The neighbouring property got $250 sq mtre for a heavily timbered property.
We are losing $360,000.00 because of those trees.

Regards

Sam and Theresa Grima

Sent from my Galaxy





